Name: E')(L’,()/y) X\p(/' Exam 1 CS151
(

This exam consists of 15 problems. You have until 12:15pm. The code used
in this exam should be error free except for the problems in section B.

A. What do the following code snippets print? (5 points each)

1. intx=3,y=11;
cout << x <<x;
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2, intx=3,y=11;
cout <<x+y<<"l="<<y+x;
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3. intn=10,a=2,b=8,c=4;
if(b>6&&c<4|c<=9)

{

n=n-+35;
}
if(a>3&&b>5]|a>=9)
{

n=n+ 20;
}
if(c>2]a<8 && b==28)
{

n=n-7,
}
cout <<n;

Ans: 8
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cout<<7+2/3*5*3/(2-1)/2;

—

for(inti=3;i<7;i++ )

{
for (intj=0;j<i;j++)
{
cout << j <<«
}
cout << end];
}
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int sheep( ing; e
int main()
{
intn=1;

for(inti=1;1<2;i++ )

{

cout << "quack " << end];

sheep(i+ 1);

J
}
int sheep( int x )
{
for (inti=0;1<x;it++)
{
cout << "baa ";
J
return 0;
}
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B. Find the logic or syntax errors in each of the following programs (there
may be more than one). Circle the syntax errors you find. Describe the logic
errors you find. (5 points each)

7. Find the syntax errors.

include <iostream>
using namespace stdgj
T Char/main( )

cout << hello world! << endl;
return O;

5

8. Find the syntax and logic errors.
#include <iostream>

int main()

{
double c,f ;

char Ans;

do

3

cin >>¢;

f=(9/5)* ¢+ 32.0;

cout << f <<\n;

cout << "Do you want to perform another conversion (Y/N)? ";
cin >> Ans;

vjv)hile(qans'— ) | (s =Y

returny) ;

}




9. Find the syntax errors.

S‘ Y, #include <iostream>
\5? \f%\ int test( floatn ); _
§ .(g g m,glllt ME&[F 7. B)hj hamespace J,}b(/, ’
¥ 3 {{n main() Y s A jg,;&‘m y;«?/q
g:\f floatn=5.0;
§ N cout >> test( n );
3 N return 0;
™\
: "t S’JOQ")’ N
float test( int )
{
return (n+1);
}
Ans:

10. Find the logic error in this nested loop:

#include <iostream>
using namespace std;

int main()
{
for (inti=0;1<6;it++ )
{ ¢
for(intj=0;]<5; ittt
{
cout << i1*j;
}
}
return 0;
}

Ans: ) FeNeS (/Ldﬂém $e % inney /07(»5 7L(49_C€
canc//,--\/lé‘h 'S henes f‘;)r{/ ();75'?1(:71: )0?/0>

Vi




C. Write short but complete programs to do each of the following:
(10 points each)

11. Get three floating point numbers from the user. Print the largest of those
numbers.

#‘m\c/ane </b$7\r€am>
US)}wﬁ Y)dmes}ﬂacé Sto(/‘

17t mam ()

5‘)0‘{{: ¥ =0g ij:()x;’z': O;)max‘:a@)
COUT' e " Enter three ﬂumé)erji“/’
Cin >> X DyY>S>7 -
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2 (9> max)
3
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I§ (2> max)
3
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COOT Lo “’Tﬁze Jargeof rwmaLer (7au én'r@i«@[ e, )/<<ma>(
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12. Rewrite the following while loop as a for loop.
#include <iostream>

using namespace std;

int main()

{
int max = 1900;
int sum = 0;

while ( max < 1950 )
{

sum = sum + (max - 1900);
cout << "Sum: " << sum << endl;
max = max + 5;

}

return 0;

}
#/hc/vofé (/0'57\’)»60’1)047
w:'ny nanw)’/%ice f?%/'
/;nt maim ()
mt sum <0
) )HZ, ma =900 pn, Yo
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SUM = SUm < (‘)ovp\)/~7[/00)}
Covt” €& 'Sy, @ 7 << Svm << end /-
;
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13. Get two integers a and b from the user. Print a/b using integer division
and a/b using floating point division.

#mclvds Ciostream™>
Vij nmmes/o&ice S‘%/

jnt rren O
int A, }9
Covf < enter %wo mféjer) << ena(}

CinSoOA 77 b/

st inteaer 0//)/3/54 ‘<e 5(/)3 L én&//
CO(/7L s }/oaﬁlﬁ /DO/nt V/W/S/ﬂh < (' o 0()/)9 < €no//

yelvrn O
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14. A metric ton is 35,273.92 ounces. Write a program that will read the
weight of a package of breakfast cereal in ounces and output the weight in
metric tons as well as the number of boxes needed to yield one metric ton of
cereal. Your program should allow the user to repeat this calculation as often
as the user wishes without having to restart the program each time.

4 nclvdle iostream D
{isina namespace st&(/‘
mC main()

&

CDhI’T‘S).O’IKT 7(.077—):7_0(/}7665 = ’517‘9\73 A 42/

Joaef InC pomber_o _boxes = O;
j 5 J

char con€ = "\07)
&/Oﬁf (AJe/yht,‘/;q\ cvaces = 0'0/'

o & | :
CO\UT e ) (‘En‘)'e)’ we)éf\t (éxonceo) 05_ A pﬂcj(ajZ C), C@)(:\, /l
Cin 27 wezjéé_)h., OLlhcey/'

Co[/f‘<< ! I/Ue)jllt % ’}CVIS rs << Weﬁzt_);?AOé'}?CﬂA /‘rol,“,;,'_aghm‘)
£< \QH/)/

. ; " "
Ca(/f(é Ton_1n~Ouvinces /weiglut\'”_&f/”‘ff << bexes per ton

o en///'

cocT ¢ " Brter aswhior /pﬂ(/(an Lu@/g\(t? (yn)" < erocl /)
Ci215% conC y

3‘ while (conl ==");
yelurn ¢
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15. Write a program that gets two floating point numbers a and b from the
user. The program will then swap the values in a and b and print the result.

Example Run:

User enters 0.4 and 1.5.

Set ato be 0.4 and b to be 1.5.

Swap the values in a and b so thata= 1.5 and b = 0.4.

Program prints 1.5 and 0.4.

3 Mok CvtremnS
Uf/’?\ﬂ heome space 5&//
mC naciiin ()
g
float a=0.0, ,)3:0«0/' femp =0.0;
Cin > A = b,
'Tem/@ = a;
A= 5/
b= /'{MF/‘
COUT™ (e o cc ! Tl b,
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